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Christmas Addition

Solve the following word problems.

Santa has 345 candy canes. He makes 200 more.
How many candy canes does Santa have now?

There are 650 Christmas lights on the tree. Santa
adds 100 more. How many Christmas lights are
there on the tree now?

Santa's sack contains 300 presents. He adds 500
more presents. How many presents are in Santa's
sack now?

There are 400 ornaments on the Christmas tree.
200 more ornaments are added. How many
ornaments are on the Christmas tree now?

There are 500 silver bells and 300 golden bells.
How many bells are there in total?

Santa’'s reindeer ate 400 carrots. They ate 300
more. How many carrots did the reindeer eat in
total?

Santa’s sack contains 500 presents. He adds 300
more presents. How many presents are in Santa's
sack now?

There are 600 ornaments on the Christmas tree.
100 more ornaments are added. How many
ornaments are on the Christmas tree now?

9 Santa has 350 cookies. He adds 150 cookies. How

ﬂany cookies does Santa have now?
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